Joy—IL

EFFORT

INEER sy T G ~marm~
X2 VIDEBH. DENTRXVIHDBEIEIZ
[iﬁl;t':#a‘ilﬁl

% [ZIL]E

@4 & (X HSS( /N1 A& ) THHAMEM UP
@1V NIIRTSAN—TZEDEHEIERTHEIETROMIANEERET,

" (mm) (mm) | Cmm) | Cmm) | A%k | (Bifk) | 4511466
RT-M3 M3x0.5 80 20 25 10 ¥770 103601

RT-M4 | M4x0.7 | 80 20 3.3 10 ¥770 | 103618
RT-M5 | M5x0.8 | 80 20 4.2 10 | ¥800 | 103625
RT-M6 | M6x1.0 | 80 20 5.0 10 | ¥870 | 103632
RT-M8 | M8x1.25 | 80 20 6.8 10 | ¥1,100| 103649
RT-M10 | M10X%1.5 | 80 20 8.5 10 | ¥1,450| 103656
RT-3/8 |3/8xW16| 80 20 8.0 10 | ¥1,450| 103663

Joy—iL

EFFORT
NAMRISASIN 2 YT ~tur - gBRE~
X VIDEK,. DENTRVILDEIEIZ
[:‘EFE\#*SF

OMEIX HSSV(NA R, /N\FUIL) THAEA UP
@ (VNI FAN—REDEFEERAHEBBTHROMIAHEET .

o (mm) (mm) | Cmm) | Cmm) | A%k | (Bifk) | 4511466
RST-M3 | M3x%x0.5 80 20 25 10 ¥1,100| 103700

RST-M4 | M4x0.7 | 80 20 3.3 10 | ¥1,100| 103717
RST-M5 | M5x0.8 | 80 20 4.2 10 | ¥1,150| 103724
RST-M6 | M6x1.0 | 80 20 5.0 10 | ¥1,250 | 103731
RST-M8 | M8x1.25 | 80 20 6.8 10 | ¥1,650| 103748
RST-M10| M10x1.5 | 80 20 8.5 10 | ¥1,850 | 103755
RST-3/8 | 3/8xW16| 80 20 8.0 10 | ¥1,850| 103762




